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MERGE-SORT(A, p,r) Qrkh) S oo A [f ) r]

if p<r // check for base case
q=|(p+r)/2] // divide
MERGE-SORT (A, p, q) // conquer
MERGE-SORT(A4,q + 1,r) // conquer

MERGE(A, p,q,r) // combine
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MERGE(A, p,q.r) Meras s ‘\’\w Gorkd  Gdamys AT 941 wd AQgrl.. ]
n=q—-—p+1
N, =r—gq
let L[1..n; + 1] and R[1..n; + 1] be new arrays ()
fori = 1ton,
Lli] = Al[p+i —1] O
for j = 1ton,

R[j] = Alg + j] ) |
Ln;+1] = o0 Moy 15 @("9
R[n, + 1] = o0
i =1
ji=1
fork = ptor

if L{i] < RL/) o)

Alk] = L[]
i=i+1

else Alk] = R[]
J=J+1
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